

$$2 + -3 \rightarrow 2 - 3$$

$$2 - -3 \rightarrow 2 + 3$$

$$2 \div 3 \rightarrow \frac{2}{3}$$

$$2 \cdot 3 \div 5 \rightarrow \frac{2 \cdot 3}{5}$$

$$2 \div 3 \cdot 5 \rightarrow \frac{2 \cdot 5}{3}$$

Expressions in ( ) act as a single object

$$2 + -3(5+7) \rightarrow 2 - 3(5+7)$$

$$2 - -3(5+7) \rightarrow 2 + 3(5+7)$$

$$2 \div (3+5) \rightarrow \frac{2}{(3+5)}$$

$$(2+3) \div 5 \rightarrow \frac{(2+3)}{5}$$

$$2 \cdot 3 \div (5+7) \Rightarrow \frac{2 \cdot 3}{(5+7)}$$

$$2 \cdot (3+5) \div 7 \quad \rightarrow \quad \frac{2 \cdot (3+5)}{7}$$

$$2 \div 3 \cdot (5+7) \quad \rightarrow \quad \frac{2 \cdot (5+7)}{3}$$

$$2 \div (3+5) \cdot 7 \quad \rightarrow \quad \frac{2 \cdot 7}{(3+5)}$$